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Aufgabe 1 
Weiß am Zuge 
 
Weiß: Kh1, Dc3, Td7, Sf3, Ba5, g2, h3 
Schwarz: Kh8, Df6, Te8, Sg8, Bg6, h7 
 
 
Aufgabe 2 
Weiß am Zuge 
 
Weiß: Ke1, De4, Ta1, Th1, Ld3, Le3, Sb1, Sf3, Ba2, b2, c3, d5, g2, h2 
Schwarz: Ke8, Dd8, Ta8, Th8, Ld7, Lf8, Sg8, Sg6, Ba7, b7, c7, e5, f6, g7, h7 
 
 
Aufgabe 3 
Weiß am Zuge 
 
Weiß: Ka2, Dc6, Te5, Ld3, Ba4, b3, c2, d4 
Schwarz: Ka7, Dd8, Tg7, Lf7, Ba5, b6, c7, d5 
 
 
 
Aufgabe 4 
Weiß am Zuge 
 
Weiß: Kh1, Dd3, Td1, Lf3, Lg7, Sg4, Ba2, b3, e4, h2 
Schwarz: Ke8, Db8, Tc8, La3, Lc6, Sd7, Ba5, b5, e5, f7, h7 
 
 
Aufgabe 5 
Weiß am Zuge 
 
Weiß: Kg2, Tc7, Td1, Se4, Ba3, d6, h2 
Schwarz: Kf8, Tc5, Td8, Lb2, Ba4, b6, e5, g5 
 
 
Aufgabe 6 
Weiß am Zuge 
Stellung nach den Zügen 1.e4 e5 2.Sf3 Sc6 3.d4 d6 4.dxe5 dxe5 5.Dxd8+ Sxd8 6.Sxe5 Ld6 
7.Sf3 Sf6 
 
Weiß: Ke1, Ta1, Th1, Lc1, Lf1, Sb1, Sf3, Ba2, b2, c2, e4, f2, g2, h2 
Schwarz: Ke8, Ta8, Th8, Lc8, Ld6, Sd8, Sf6, Ba7, b7, c7, f7, g7, h7 
 
 


